No.1
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

Fel B a—F W 4 SHAEE B - EFEPERFIAELREREXS a— R m | WHER (R552) BHE—8 (7= K)

LAEFR Bk EBERS gty BATHREENAEE RS a—rk [ 073030 | GskeiE kB K

e ae | e ma ] e i g 0 mEEs T e 0 mEEs T, e ol sEEs I, o

0O/ RFIERT | T& | 1]+ 1| 1|86 xEB 1 |mBE— 1294 (2|2 BERE 1|=E 1331 |3[BA #hm 1|& 13.48 |4|AE WA 1 |BLEM 13.56
oom Sk B 1|@A 1367 |[6[E& faak 1 |BILEBEER 15. 65 RE BB 1 |BUEt x5

0O/ FFIERT | T& | 2| +1.3]1|LB BaE 1|mafk 12,47 |2[BA Bua 1 |BlE— 12.97 |3|REAAG 1| KM 13.06 | 4|5 a1 |oae— 13.10
oom 5lRIL %8 1|OnloBm | 13.34 6|88 EA | |ABE— 15. 86 RXNRER 1|2 x5

00/ T RFIERT | T& | 3| +1.7||1|FE I 1|[BBLE— 1.85 |2[FR B& 1 |BLE= 12.75 |3RE Z— 1 |BLUBT 13.21 |4|XAR B 1|BLESR 13.25
oo S|®%E I 1WA 1404 |[6[BABLIE 1|x® 15.19

00/T1|FEIERT | T5& | 4| +1.0( 1[0 x| |=H 1255 |2|EEH =@ 1|@am 13.01 |[3[BR MBI |RRE— 13.18 | 4|58 =& 1|=) 13.35
oo ) YT T = 1342 6| &% = T1|0ofEm | 1352 |1|&W WA 1 |&7/E 1400 [[8[RA& M 1 |BBLEA 15.26

00/T1|FEIEBRT | & | 5| 0.9|1|EE XA%©& 1|EATR 1221 |2[@A & 1 |BlEX 1271 || 3|EmEZS 1 |BlE= 13.28 |4|BA BB 1 |ZmE— 13,47
oo SAL BEE 1| 1397 [6|&#X mE 1|&rkE 1438 [T[BA #®A 1|%® 15.16

00/T1|PETERT | R 0.0 [1[EBE & 1 |BblE— 1,98 |2[5H X%@& 1|@AFR 1248 3L @& 1 |EmFR 12.63 4| BH 1|5 12.69
o 5|EA & 1 |ELEE 1277 |[6[FR B& 1 |BLE= 1297 |[7|BA Bua 1 |BLE— 13.00 |8|f% 7&iE 1|@amE— 13.05

00/ 11| FZ2ERTF | To& | 1] +1.6|1 [ EE —F 2|ZRE_ .72 (2|2 BA 2|EB5— 12.34 |[3|FE B®=E 2|BLBE= 12.65 |4|ETEAE 2 |BLBEA 12.69
oo S 1342 |[6|AH WE 2|%&& 1460 |7|[ERABK 2|m% 15.67

00/ FF2ERT | Ti& | 2| +2.0| 1 |[FEmnmsr 2|all .70 |2|E®R X¥F 2|&A 12.06 || 3|8H AES 2 |BBILUEA 2.0 | 4|8 mt 2|=8 12.44
oo SRR —®  2|EATR 1356 |[6|BA B+ 2|@mm 1418

00/ FF2ERT | T& | 3]0 3|1 |EABKE 2 |XK 11.98 || 2|BERZRES 2 |BbLEH 12.26 |3|Ri& 7aE 2 |MAsl 12.37 |4|EE ZM 2 |BbLE— 12.78
oo 5AE BA 2|RE 1328 |[6[/% Ex 2|=%& 13.45

00/ 11| FZ2ERTF | T& | 4] +1.6|1|0RH =0 2|BWLE— .77 || 2|/ee —F 2|@A& 11.89 || 3[®ap sefd 2 |BBILE= 2.0 |4 T&E BT 2|&rkE 13.08
oo SEE BB 2|BAB- 1311 HE ZH 2|5E 3

00/ 11| Z2ERF | _B5 | | +1.6|1 & —F 2|ZRE_ T1.53 | 2[EE@nr 2|all 11.66 |3 |/ee — 2|@A T1.79 | 4|BH =0 2|BhLE— 1183
oo S|EAEAE 2|E&K 11.92 |[6[ER X+ 2|&& 12.08 | 7|84 ABS 2 |BBILEA 1212 |[8[BEZRE 2|BLESR 12.14

00/ TT|FFHEBT | To& | 1]+0.61|Kx B 2 |#R5] 23.57 2|18 k@ 2|Bm 26.39 [3|HHF EX (%= 28.00 |4[&1 ME 1 |BLUEH 28.96
2o INHE A 1 |BLET 3 BR BT 2| ABE— 3 %E W 2 |A% x5




No.2
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

Bl SRR a— R W EsEar SHAEE B - EFEPERFIAELREREXS a— R m U BB (R v2) BE—1 (74— )

LAEFR Bk EBERS gty BATHREENAEE RS a—rk [ 073030 | GskeiE kB K

e e | e ma | s i g 0 sEEs T e o sEEs T, e ol R I, ok

00/ [FELBET | T& | 2] 0.8|1|HAHE5 2|BE 25.55 [2|BHF X@& Z2|BAB— 25.72 |3|EE #E 1 |BLEa 21.89 [4|mE & 1|ER 28.15
200m [5|ME XfE 1|BLEE 29.84 [6|®A P®m 2[FE 30.05 [[7T[X#E xZF 2(|=E 30. 14

00/11|hZEHBEF | & | 3| +1.9| 1|28 &R 2 |EHE— 256.30 [[2|luE EA 2|@EEE— 256.92 [[3|4EQ B  2|EBILER 26.29 |[4|=BREA 2|BEm™ 26. 88
o SNBHEE 2 |EBLE= 28.22 |[6[EAR XF 2|mal 28.88 EE BN 2|0R &AEFS

00/ T [ FEHBBET | Ti& | 4] 0. 9| 1|1k S0t 2|& 2872 |[2[BR XB 2|~ 25.56 |3|Bt RE 2|HAB— 2603 |4/ #ie 2 |[RBEERE | 2117
2o 5| TILESE 2 |BLE= 21.25 |[6|FZF mA 1|BUBEER 29.34

00/TT [ FELBET | R | | *0.8|1|KR B 2|85l 23.35 |2k Bt 2|&)I 2459 |3|EHF X& 2|BAB— 2519 |4|B% BE 2|6BE— 25.46
2o 5BR K2 2|KW 25.46 |[6[ILH E&A 2 |BBE— 25.81 |7t BE 20AB— 2617 Eabhi-3 2|®& 3]

00/T0| FERXBBT | Ti& | 1 TEZR % 2|1k 58.35 [2|EN & 2|eBEEXE| 1.01.8/ |58 RE 2|ER 1.03.24 |4|&XE B 2 |#esl 1:03.74
4o 5[EM @l 1 |BLE= 1:09.97 |[6[ZE =¥ 1|EBE— T:17.90 |72 W+ 1|EBLEER 1:22.05

00/T10| P ERBET | T=& | 2 TEx =6 2|BLE=R 59.45 2|k BA 1 |=H T:01.15 |3 |Frdlan | |EBE— 1:02.42 |4 &% WE 2|BUB— 1:04.78
o 5|E RE 2|RIE 1:07.69 |[6|=@% fam 1 |BEEXE | 1:10.24

00/T0[RERBETF | TiE | 3 T[BA A 2|5E 59.92 [2|MEE/ v Z|& 1:00.29 |[3[RABREE 2|X<H 1:02.03 [[4|/NFk BZE  1[#B5I 1:05.70
4o S/NL K58 2|®IE 1:09.16 |[6]|t®& BA 1|ELE= 1:12.39

00/TT | RERBET | R B8R & 2|0k 57.61 |2|leA =X 2 |BLER 58.39 | 3|MEE/ S 2|&l 5808 |4\ BA 1|=H 59. 06
4o S[#®A BA 2|hE 59.16 |[6[EIT & 2|eBEEXE | 59.29 |/|KAEEE 2|AK 1:00.77 |[8|HFBB%m | |BmE— 1:01.36

0/ T [ PERBET | V& | 1 T/NEt — &  2|EAhR 2:12.96 ||2|=8 EAB 2 |EALET 2:15.61 || 3|%® B= 2|&B& 2:21.0] |4[BEH RZ ?2|XmE— 2:25. 24
oo 5|%%E B 2|= 2:26.19 |6 | RFIEBE 2| KW 2:34.40 |7T[/NEEBA 1|#al 2:41.75 |8|HR BE 1 |BLEE 3:08. 82

00/TT|[RERBET | Ti=& | 2 T|EEm %A 2|BENE— | 2.11.94 [2|k= ®Xx 2[msl 2:16.05 || 3| &%k =A 2|2 2:18.56 |[4|/N\& 2B 2|%= 2:28. 65
oo SRA & | AaBE— 2:36.13 ||6|AE XM 1|x& 2:37.25 | T|R" f&H 1 |EBILEE 2:43.75

00/TT|[RERBET | TiE | 3 T[EL =% 2|BlUE= 2:10.30 |2[B8 BE 2|=% 2:14.85 |3 |[EAMER 2 |EmE— 2.19.55 |4|AH BA 2|8% 2:34 41
o S|®A Bee 2@ 2:38. 71 |[6|FE BF 1 |xE 2:40.62 1| KRZE 2|0of<Am | 2:42.20

00/TT|[RERBET | R T|E@m %A 2|BENNZE— | 2,059 (2% BB 2|BLET 2:07.76 |3 |2 BE 2|=% 2:08.67 |[4[BL == 2|BALBE= 2:09.33
oo 5|XE ®Zx  2|msl 2:10.04 (68t —¥8 2|EmAFRR 2:14.89 |7|%®% =A 2|=8 2:19.87 |[S[EARER 2 |BBE— 2:21.22




No.3
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

beth B =—1 [o7] giias RMAEE Bd - BEDYREARLEEAS a—F [22074022] #HE BHER (£39) BB (71 §)
LAEFR Bk EBERS gty BATHREENAEE RS a—rk [ 073030 | GskeiE kB K
e e | e ma | s T g 0 sEEs T e o sEEs EL e ol R R ok
09/10|h=21EBF | REE | 1 1[XFEmRE 1(FHLUER 4:35.49 | 2|8AK EIREFSEF] 4:38.91 [[3|m4F REL 1|BAmE 4:39.21 [[4[:EH w1 |BBIFE— 4:39. 31
1500 SlEmE R 1|@ER% 4:39.47 || 6|F/RZFE HE 1|[IZHHA 4:44.62 || 7|#E 1&E  1([E 4:49.92 |8 EBEERIE 1 |XW 4:49.96
9[fn&n E# 1|HiE 4:50.13 |10[& Il Al 1([FERE 4:55.66 [[11|=& Kt 1]|= 5:03.59 |[12[:Rt& KB 1|X# 5:03.75
BEEEZ NS 51719 | |B mA 1|=% R
09/10|h=21EBF | REB | 2 1T|/h#k fEE  1|EBWLWHFRUA | 5:01.23 || 2= =& 1|ZEFE= 5:01.92 |31k #EE 1(|8II 5:03.26 [[4]|%1L WK 1|= 5:04. 31
oo 5|@A mBE  1|UL/-BE | 50623 |6|RkE &8 1 |BLUEA 5:18.90 | 7|&mA ®E 1 |BBE— 5:20.26 | 8|E® TR 1 |BBLE— 5:24.57
BEAIEEEEEE 5:28.31 [[10|NEA Ak 1|EBLER 5:30.88 |[11[;xH# #ME 1|EBLUEL 5:36.72 [[12|1%8& H#E 1|&AII 5:44.00
EE mD 1 |BLED R
09/10|h= 2 1B F | REB | 3 118X Gk 1[5 5:13.70 [[2|ixE Z=#E 1|51 5:17.04 [[3|#BA HF 1|XK# 5:19.17 [[4|8H#F #WMKX 1|@wEFE— 5:24. 36
o0 51K BBz 1 |REFEZ 5:25.35 |[6 (4R Hsr 1 |BAAHR 5:33.80 [[7(ZNl BWE 1|&YE 5:36.71 [ 8|#%iE ME 1|XRZ 5:38.12
9| HBRFEZN 1|®RTE 5:40.17 [[10|<EEEE 1 |RIF 5:40.84 113 £Ff1 1|5 5:42.23 12|74 K fE 1| 5:52.82
B I CEEE 557,71
09/T0[ P25 BT | R | 1 IEEAEEEEEE 419.80 (2 |ER: BE 2 |BA®— 42592 |3 |&E T8k 2 |®BA 426,40 |[4[AIB B 2 |BBE— 7:36.93
o0 bl #&F 2|FENI 4:43.40 |6 |KFH #® 2|(ELUFELE 4:44.30 || 7| EXx  2(=H 4:47.02 || 8[F& Kk 2| 4:50. 54
[FE BE 2|=W 456.60 | |mE R 2|mB R
00/T0[ P25 BT | =B | 2 85 =% 2|7 44194 2|k B 2|BBLEM 50520 [3[BA Bm 2|&7E 45019 |4|RB EBE 2|28 751,57
o0 SIXRNRERE 2|EBLUER 4:52.22 | 6|FEMBMEANER 2 [EBILEE— 4:57.27 || 7|%&®R G 2 |EUE= 4:57.56 (| 8|+ L %t 2 ([ERILE— 5:03.91
9|85k BF 2|=F 5:12.28 & EE 2|E Riz
UNEEZEZERET IE T[2H %5 2|DAmR 44456 | 2[R B 2|BATmR 5:03.71 |3|&W  m®  2|#mAsl 5:00.00 | 4|3 B2 2|‘aBs— 5:10. 48
oo 5|KZE B 2|REE= 5:16.03 [[6 | #&EF 2|/7E 5:26.68 [[7|F)N =K 2|UBTEFR 5:36.43 [[8|EF HE 2|=H 5:44.02
9[gsKk = 2|HiE 6:16. 22




No.4
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

el BmE a— K W A4 SHAEE B - EEPERFAELFRERS a— R 22074022 | FHIE WHER (55 2) BE—8 (74— F)
T A EmELHEHS B4 BT S ER N EE RS a— R 073030 e AT £k X
aet| e | e ﬂf S, R sk E B, AT sk E B, AT sk E B A, T T
00/T0| PERBET | R TEE & 2(& 9:37.67 ||2|BIB Bk 2|EAB= 9:45.06 ||3|EAE & 2|mETE 10:00.88 |4 [@BBIAE  2|&W 10:04. 30
3000m
5|EA® #8 2 |mAs 10.13.25 | 6|2 Bx 2 |B% 102375 |71 |E@ =% 2|& 10:25.22 |8 |BA %t 2 |RME— 10:29.36
928 BmA 2|BE 10:52.95 |10 @A #E 1 |RBE— 10:53.48 |[11|Am 2 2|@Am 11:00.39 [[12[&% HE 2|05f&m | 11:03.49
B[R BA 2 |6BE— 11:15.57 143t MB 1|=% T1:19.07 1582 BA 2|= T1:31.91 [16|BABEZ  2|EAhR 11:49. 77
T[RINEFR 1 [EERE— 12:53.79 |[18|/hEe Aol 1 |BBREXE | 14.12.48 | |E@ X&B 2|BLEM V3]
09/11|ch=21EBF | FE | 1| +1.61]HN % 1=8 15.33 2118E &% 1|FEE— 19.16 J|EBEE & 1|ZBEZ 20.09 418K BE EITESS 20.19
100mH[0. 838m/8. 50m] A&
Wl BL  1|06-EA V3
00/ TP EBRT | & 2|0 7|1|A" B8 T1|=% .21 | 2|E =fk  1|=@ T6.42 |3k ERE 1|BE 2050 |4|%2 BE 1|0L-ER | 2217
100mH[0. 838m/8. 50m] Py i Pt i
=il % 1|CHE V3
09/11|h221EBF | Rk +1.2)| 1| KA #E 11=%& 15. 11 2 & = ] 15.15 RIENCEES =] 16. 36 41EA 1&&E 1|FmEE— 19. 42
100mH[0. 838m/8. 50m] et i Pt i Y i
b|HE EFE BEES 19. 61 6|EfE & 1|ZBEZ 20.10 TI8K BEEZE EITESS 20.14 8| KB EIE 1os=ER 22.54
09/11|ch=22F8F | FE | 1| H1.8||1|AH XT A 16. 31 2| EREe 2|0 f=ER 18. 45 3deAt Em; AR 19.29 4|KR RE AIERE 19.43
110mH[0. 914m/9. 14m]
518N &= AEEEES 20. 39 6 |/NLERAER 2| ZBEZ 20. 94
09/11| BB T | T&E | 2|1 7|1 |—06 @E 2|BAE— T7.21 |2 &% ™A 2|BlE— 18.02 |3|BlR BA 2|<mE— 18.32 || 4|W% WB 2 |HE 19.02
110mH[0. 914m/9. 14m]
5|RE BA 2|EAhR 19.82
09/11| R 2E BT | R 021 6H A8 2= 16.26 || 2|—tk @2 2|BAZE— 17.08 | 3|BR @A 2| XmE— 18.25 | 4 =i& A 2 |ELE— 18.33
110mH[0. 914m/9. 14m]
b |48 Fth 2|91 18. 63 6|k Eate 2|0 1f=ER 18. 87 B ES 2 (FasREE— 19. 45 8| KR RE AIEEE 19.55
09/10| P BB T | REB | 1 BA oa | Rk 1aE 2 BA BE 1 BE e 2
4 x 100mR 18T ZEiD 2 |EBILE— 47.22 2|RR HEW 2 |#Rsl 47. 44 J|Et+EKAE 2 | BRILEE N 49. 00 A TILEYE 2|BRLE= 49. 21
E - ) EAR B 2 BO EF 2 NP EESTE 2
| @ a1 AR B 2 BRAT AER 2 hE EE 2
INEE A WERERE 2
Sl B 2|iEmEE%iE | 53.15 XAR & 1|BUEER S H&DNF LS x5
EEOIEE 1 RIE W1
_ _ NI BA EEE 2
09/ 10| PERBET | 2% | 2 22 mZ 2 e &N 2 N B 2 EAA—K 2
4 x 100mR 1|#EE —5 2|88 46.16 2|&E BK 2 (FasREE— 47. 1 3 (HELEEN 2| 47.91 A|BEE Fth 2 (BBILEE 48. 46
E&bh=3 2 HE &E 1 MEE/ N 2 RE EE 2
B4R A3k 2 R EH 2 BHa & 2 R BB 2
Bt mE 2 KABIRE 2 HE Wt 2
5lEm AKE  1|Emthk 49.28 [6|ax X2 2|x# 29.61 [[7|Z2R ® 2|7 50. 35
kB —H 2 XHABE 2 WE mig 2
i BEE 1 BEAAGE B BBy 2




No.5

ESw9 « J4—)LFIEH - F3F - RS - R - BUEkX
Kl B a— 1 [o7] gies  BHMASE B - BETEREARLBEAS a—F 22074022 HIE RHSR (+597) FB—8 (741 E)
T A EmELHEHS B4 B S EE A REELFERS o— R 073030 e AT £k X
aet| e | e ﬂf S, R sk E B, R sk E B, R sk E B A, R T
09/10| PR BET | R | 3 BE =A 2 I 5H BN 2 BR A 1
4x100nR 1% &  2|AAss 48.55 [2(|#@L BB 1|=@E 48.64 ||3|BRRER 2|BAE 50.87 || 4|EamxEw 2|&w 52.59
Ne BE 2 B EK 2 E@® oEH 1 BARBLE 1
¥ E 2 BRED #ith 2 XE FE 2 EREEHE 1
AEH #HE 2 AE WA
5|AE k@ 1|&® 57.16 BA E 1|mLuzEm SR wE xi5
HE OEE thiE ED 1
B B 1 JIE HE 2
00/ 11| FERBET | RE T[ES Lk 2 |ZmE— mss [ 2|Rk BE 2|ABINE— 50 | 3|%t HmE 2 |mASR M50 | 4|mmE 8 1 |=; m35
=
52 & 1 |BLE— 35 KE BW 1 |&7E TRLL | |ZE WP  2|-HE X%
00/ 10| FERBET | RE TIRE BF 2|BA%E— w0 |[2|/NB BB 2 |mAE— 7m0
BEk
00/T0| EZ1E BT | R T B2 1 |2®E el AEEEES AIEEEES o2 || 3| @R & 1= ™| 418E o T |5AE Ima0
FENE Bk 524 (+1. 2) K& H +1.4 +0.8 +0.9
AEEEEE EEER 3 ||6|RE =R | |EBE— 26 | 7|KE 2E 1 |®rE Ind |8|/BA uE 1|BLEL amio
+1.0 +1.1 +1.7 +1.2
9|KA W 1|msl 3m91 10| HF 1|BILEt me2  |11|Ft w8 1 |®TE 3m60 BE Hx 1|=8 TEGL
+1. 1 +2.0 +1.3
00/10| FZ2E BT | R TINE &E  2|EBLEm tmel |2 |B2® mm  2|@B6 548 || 3|5 BA 2 |EAE 5m33 | 4| F R EGE  2|& 5mi5
FENE Bk +1.4 +1.5 +1.3 +0.5
St BB 2| BEINE= 5mi3 |6 |laEE HBTE 2|1 m  |7|[ER Rm 2|=@| 90 | 8|#%m it 2 |EBILETE Im64
+2.0 +1.4 +1.5 +1.3
9|5E = 2|=@ 30 [|[10]FE MmE 2|®IE w23 |18 =% 2|5& 2l |12[k® mA  2|F) 4m0?2
+1.1 +2.0 +0. 2 +1.8
B B 2|E 3m99 |14E@E @ 2 |BILEER 3mi7 15|k B 2|7 3m09 ST EEE= X
+1.6 +1.5 +2.1 AL
09/TT|RFTEBF | R TIREBAR 1 |BHFE Tomi9 (2|7 28 1 |BlEt N BEEEEE R ETETE 07 | 3| ERBERE 1|05 ERE m95
L% [4. 000kg] KL
AR ENEER 6mo7
00/ T1|FE2E BT | R TBA && 2|HRal om3l | 2| RE 2|=H om30 || 3= B 2|EFLE 8mbs | 4|2 EA 2|BLEL 8mA6
T # [5. 000kg]
SR BR 2|BE 8m06 |62 BEA 2|AH 62 |7 |%E BN 2|0nlE Tm29 |8 |INDEAF 2 |ELE— Tmii
9|FE Hth 2|8AEM 6m91 10|5H #WE 2(8% 6ma1 nal X& 2(&5@E 5m97 1235 WE  2|= 5m39
FE Bx 2 |BLEMD x5
00/11|7oranremnn| K& —0.4|1|%H mE= 2|BLET 18.59 (2| KF B 2|%mE— 19.10 |3 |&% =A 2|BAZ— 10.20 |4|[fERA—H 2 |EB8LET 19,50
110mH[0. 914m/9. 14m] 469 424 415 390
5 BA 2|@IE 20.40 |[6[BF 1© 2|®7TE 71,45
318 244
00/11|7oranremnn| RIE TIERA—RK 2 |BILET 57.06 | 2|=<M = 2|BLEL 57.95 | 3|m BN 2|mrE 58.45 | 4|EE =A 2|BAZE— 59. 37
400m 519 486 467 437
S5|RFE B 2| RRE— 1:02.76 |6®BHF 1© 2|®rE 1:05.32
324 250




No.6
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

bty B =—1 [o7] giias SMAGE B - BEPEEFARLBEAS o R [22074022] #HE RHRR (+559) FB—8 (71— )

LAEFR Bk EBERS gty BATHREENAEE RS a—rk [ 073030 | GskeiE kB K

e e | e ma | s T g 0 sEEs T e o sEEs EL e ol R R ok

090/11|reranrrmmz| R 1|ZE8E X 2(BA%= 9m66 2|%m gEE 2|EBMLUEL 8m74 3|KE E 2(&RBEFEZ Tm68 4fErRK—p 2|EILEL m25
L% [4. 000kg] 465 410 347 322

S| BA 2|RVE 6mdl || 6[BF 1© 2|7k 6m72

00/ 11| PR ERT | & | 1|25(1 |81 EH 1|GATR 15.9% 258 =& 1 |BLEX 1121.93)4 (B X2  1|msl 14.26 |4|F@AOY 1|8 14.49
1oom EERES T EEES 1476 |[6[Em @ 1 |sbLE— 15.51 |7|5@ BE 1|0ofER | 1643 |8|#m =Z= 1|8A@ 16.52

00/T1|FEIERT | To& | 2| 03| 1|@7F =@ 1|Ba 1336 |2[=0 &AW 1|BAH— 414 |[S[EN L 1 |=E 15.26 |4|&R &%= 1|AH 15. 38
oo 5|BA BE AR 15.51 (6% =Z& 1|BLEBEA 15.56 |[7|t% =H 1|=@ 16. 62 AET AN 1|0bT AR 3

00/T1|FFIERT | T3& | 3| +0.5(1 | BAEEE 1 |BAE_ 13.67 |2|BA fx 1|=# 1408 |3[EAMm#E 1 |BLUBE= 1427 |4|BK ER 1 |BLUEA 1517
oo 5[AF#F EE 1|5l 15.43 DEEEENE 1| RBEZ 15.55 1|i%R RS- 15. 61 HEGEETIRIELS 16. 25

00/ 11| PR ERT | & |4|0.6(1|5@ =k 1|REBE— 13.99 |2[MB & 1|=% 411 |[3|AEH RZE 1|~ W 14.6] |4|EAREBE 1 |2=% 14.97
oo 5 EHBBE 1 |BLUE= 15.39 |[6[Ra =& 1|@Am 16. 86 wa BE 1|®& 3]

09/11[hZ21ELF | Rk 0. 7018 &R NEEEES 12'.582 AESES 5 13. 40 J/hEHEEE 1|BAE= 13. 81 4|FA ZFE 1 |REEZ 13.90
oo SEE BEMW 1 |EA%= jfﬁ%g 6|MEm B 1|=%& 1423 [T[BA @& 1|=#& 1427 |[8[E@ ZE& 1 |sbLEM 14.46

00/ 11| FF2ERT | 7& | 1] 241 |HR 98 2|AH 13.38 | 2|=f =M 2|BLEs 415 |3|@mmE =2 2|BLs= 440 |4En = 2|=8 1258
oo b|B@EHHLY  2|AR 15.58 68K FZx 2|17 16. 42 11F¥8 A& 2|%%8 18.57

00/ 11| FZ2ERTF | To& | 2|0 2| 1|59k =ie 2 |ELE— 13.63 |2|BF *H 2|GBE— I HEGEEE S 431 |[4|BL B 2|~W 15. 04
oo 5| #ik 2([fe5I 15.07 [[6[ER meix 2 [&% 15. 51

00/ 11| FZ2ERT | To& | 3] 1 4|18 2N 2|BENE— 418 [2[RA ER ?2|= 433 |3|&%E B=E 2|28 455 | 4|LA& BiE 2|5k 1470
oo hlHHE 8 2|XWK 15.08 6= Fid8 2|U0BfFR 15.19

00/ 11| FE2ERT | To& | 4|05 1 |(LE L& 2|ABE— 13.55 (2|88 W¥ 2|0blam 13.93 | 3|aAx @ 2| 1456 |4|@R3RIE 2 |MAB 14,85
oo 51/85FZ1E5Hh 2 |BUE— 14.93 6[FE XET 2|R& 15. 60

00/ FFE2ERT | REE| | 0 1|1|hk 98 2|~E 13.35 |2|LEH 0B 2|GBE— 13.59 |3|B9R At 2 |EBILZE— 13.65 | 4@l &M 2|REINE= 13. 91
oom b= mil 2 |ELUER 13.91 6 | 2 2|BMLUE= 13.99 G K¥E  2(onfizER 14.02 8B XMW 2|EmEFE— 14. 317

00/TT | FELBRT | Ti& | 1] 04| 1 |EABBER 2|85 28.75 |2 |FE w2 AH 30.85 | 3|mAk BiE 2 |mBE— 3113 |4|Em =i 2|BLUE= 31.89
200m 518 EE 2 |BBINFE— 32.03 6| BxR ZEE 1|EBUER 33.45 TIHEH WE 1 |BE 34.34




bSvD - J4—ILEER - FiE - BERE - iRE -

e

No.7

beth B =—1 [o7] giias RMAEE Bd - BEDYREARLEEAS a—F [22074022] #HE BHER (£39) BB (71 §)
LAEFR Bk EBERS gty BATHREENAEE RS a—rk [ 073030 | GskeiE kB K
e e | e ma | s T g 0 sEEs T e o sEEs EL e ol R R ok
09/11(hfk@ELF | F& [ 2[-0.2(1(EFE HFR =H 28.85 2[4k X& 2|ELEL 28.96 (3|40 EF  2(ELEER 30.74 [4)EH EBEE 1(&7E 31.26
200 bh|HHEEAE hiE 31.83 6|HMA & 2 |EILE— 31.98
09/11|chk@ELF | F:&# | 3[+0.8( 1[mE &M RHREZ 29.20 ([2|#nR EBER 2 |&mwk 29.80 | 3|:xFn MK 2|EBEBNE— 30.53 [4|Ri Yh  2|ELE= 31.23
200m b|HMA BB eSS 33.99 6|1&EE kK= 1|BAE 39.04
09/11| £ BELF | KBk +1.9][1|E%E &HE 5 28. 26 2[iEARELK  2(|#5I 28.40 |3|#/AK XB/ 2|EHULUEL 28. 41 4|mEE EB 2 |REEZ 28.79
o S[FVIT @mF1 2 |BLESR 29.76 ||6|fR B 2|&K 29.88 | 7|2M B& 2|RENE— | 30.37 |8|FH ®& 2|KE 30.57
00/TT|[FEIBRT | T | 1 TEH =& 2|msl 23557 |2|5E =Rk 2|RENE— | 2.09.16 |3|EHEERE 1|OL-Bm | 24294 |4|E8 X& 1 |BLUE= 2:45. 42
500 BEE R B 2:53.91 |[6 |/ HZE 2|fEE— 31148 [[T|EABEZ 2|1 3:12.55
09/11|h2H£ELF | Fi | 2 1|RERARE 7R 2:40.89 [[2|XEA AL 2|KH 2:45.13 [[3]EL = 1[|EE 2:47.71 [[4|=E #Ex 1|BEIE— 2:51.42
oo 5IFE ER | BLEX 32270 | |& BaE 2 |RmE— 73]
09/11|h2£ELF | FiF |3 1|1#FH 2K EMLUEE 2:39.59 [[2|®L = 1|BAEFEZ 2:41.98 |[3|m%E H& 1|EBLE— 2:57.59 [[4|:ERAV &Y 2|EN 2:59.41
500 BECE S BT E 2:59.94 [|6|kZE XkEB 1|BLUE= 3:05.19
00/TT|RZEHBRT | T=& | 4 TFE % =% 2:38.62 |[2|&@ ZEkx 2|&A 2:38.60 |S[E2 BF 1|Oblam | 2:.41.48 |[4|AFE B 2|GBE— 7:50. 07
s00m 5| BH BK#F HIE 2:51.42 |[6|@kE & 1 (ELE— 2:54.08
00/ 11| FFERBERT | B T8 =& o] 2:31.31 ||2|F% Bk 2|BLET 2:31.83 || 3|F% P& 2|=% 2:38.20 || 4|2@ =& 2|®& 2:38.90
s00m BEETZEES Bh 2:39.02 |[6 (R = 1|BAIFEZ 2:39.16 |[7|FA TR 2|BENIFE— 2:39.28 [[8|£ABEKE 1|U0LFRA 2:47. 41
CANEEESAEZ K ThE WR BLE— 5:06.4] | 2|AE T#E 1|= 5:20.59 |3|FE BEF 1 |AB®— 5:29. 11 4=l @E 1|=% 5:31.84
o0 hlEE D=2 e 5:34.93 |[6|FkL =N 1(8REZ 5:35.94 || 7|5 LR =0 5:37.98 |[8 |t e 1 |EBILE— 5:40.98
9[#IL  #hiE E=pll| 5:55.82 [[10|i&:8 KF EZS 6:00. 89
00/T0[ R FI &R T | kW5 | 2 T[ER 8 "B 5:33.19 |2 &l BZx 1 |&E 5:50.00 |[3|&E 7% 1 |#Asl 5:53.50 | 4|B& &=/ 1 |WAsl 5:57.96
o0 FENTTE 3 %A 6:06.73 [[6|FFE @F 1|EUTFRYA | 6:15.33 [[7|ILERRE 1|RIF 6:16.14 |8 |EEEAAZDY NEE 6:21.13
V|[EE Bt 3 6:33.41 | [ERABK 1 |BLED R
CANEEZEZESAEZIE DRSS =% 456.08 [2|ATT BB 2| hBE— 5:04.68 |[3|AM =& 2|BLBE= 5:09.91 |[4|&@iW =X 2 |#Aal 5:10. 85
oo bEMm =ZE=E Bh 5:11.76 |[ 6|54 K&FE 2 |BLUE= 5:17.68 [[7|&F HE  2|Al 5:17.95 [[8|BR&éH 4 2 |EILEL 5:18.87
EEREL Bh 5:33.23 [[10|BH &FF 2|RF 5:33.66 [[11|FEHIIED 2|=F 5:41.39 [[12|ZFA = 2|x# 5:53.12




No.8
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

bety 1B =— 1 [o7] Gitas  SHMAEE B BEhSEHARLEEAS ST 22074022 #HIE WHRR (k52) BE— (71— )
- Bk ERETGS Gine  BATTRAER AR RS SERE 073030 | gkl R A
aet| e | e ﬂf S, R sk E B, AT e E B, AT e E B A, T T
09/10(h=22F &F | iRBE | 2 1[/NEHER: AEF] 5:35.08 [ 2 [r&a 2 ARy S 5:37.74 |3 |k #E ARy S 5:38.35 [[4|&#B =¥ 2 (15 5:40. 11
1500m
5(#A W= FAERED 5:50.49 |6 |=ZE #HE 2 (=@ 5:50.51 [[7|BE#EHAT 2|EAIE= 6:21.96 || 8|8k {E= 2 | RIG 6:22.26
IFRBRE 2 |BhE— 70052 | [ AENET 2|BAE= "5 XBHoE 2B "5
TSGR [ FE T[0T R & 187E= 644 |2[E8 BA  T|Ral ®20 [3[B% E5 1 |BLET 076 |4|%x @ 1|B 20.73
100mH[0. 700m/8. 00m]
SEBEET  T[EE IR BECR I CEL 5%
09/11|ch=21E&F | & | 2]+0.6( 1]|#aK ZEMW N 16. 90 2|1R#E &3 1|25 17.23 SMEAR 2 1|BLER 18.25 4|¥#A FH 1| 19.12
100mH[0. 700m/8. 00m]
5@ B2 T[0SFRR | 208 |6ERsyT  T|aasR 717
09/11|hR1ELF | R -1.6(1[&=HW i HERE= 16.55 2|1R#E & 1|25 16.79 AR FEW 1|=H 17.80 4[iEE BMR INERE 17.90
100mH[0. 700m/8. 00m]
SIERE B T [BLUEL 1835 |6[mE BE5 T|[HLUET 856 [7/EE Tm 1|BE 1882 [S[x TE  1|& 70,51
AR RT | R | [T 2T WE  2|BE B3 [2|F% =% 2|24 817 [3FE BB 2 |EBE— .47 |4[BF 7AW 2[BBE— 1875
100mH[0. 762m/8. 00m]
b|HERT FEHE 2 |BRLE+L 19.10 6|ER =tk VAR 20. 66 T8N E&E 2 |BRLE— 21.00
09/10|h2rt@&F | R | 1 E 5 3 2 Rl Yh 2 Bl =25 2 Kig HE 1
4 x 100mR 1IREx =8 2|EA 54. 66 AEXD] 2 2 (BRILE= 55.82 3|tR;ZIE B, 2 (BRLLEE— 58. 26 4Bk EEE IRESITEYaN 58.95
Tk EE 2 mE mE 2 EE M 2 e =21
i 2 2 s BE 2 B 1 mE BE
RA miE |
sl B2 1 |mam 1:07.10 VotER | &S
#Em 2E |
_ _ Bl RE _ _ _
09/10[h=2i@&F | REE | 2 =0 Em 1 INEE OFR 2 Bl [ 2 HH OBIK 2
4 x 100mR 1/hEFEETRE 1|BAEZ 54.92 2|8 £N 2 |FEERE— 55.32 J[AR #F 2 | K#8 55. 36 4 (g5 K = 2 (BBLUEE 56.70
P R XE TE 2 XE BE mE ER 2
B £H 1 WL\ OE 2 P BE 2 BE 25
RE R |
5|B#HhH L 2 | 1:00.03 I Ri5
YT
_ _ BE_ 3 _ _
OO FERERT | % |3 & AR EEIE FE BB 2 BE & 1
4% 100nR 1| ERRIBE  2|#03l 55.45 | 2|m#m ;2 |mmE= 56.46 | 3|k B 2|;u 58.70 4| wE 2|ew 58. 97
wD OEE B w2 T AF 2 BE EE 2
| . om EHEEST | Bl L N5 EBH 2
BA TE SN mE 2
5[%R o) HES 1:01.40 AiE hl 2 (BBILER LRI
ER OmH 2 AR B
_ NiE =m0 BiE w2
T FERERT | B T =M 2 [BLET ™0 [Z[Bk B 2EENE— | 0 3B BE  TBLEA o | 4|B0 =X 2|BLED a5
EE
5|5 PE 2 (FasREE— 1m35 B BN 2|12BBNE— Ri5




No.9
FovD - T4—I)LFHEH - F&E - ERE - R - BBEER

bl Br a—F W 4 SHAEE B - EFEPERFIAELREREXS a— R 22074022 | #HHE SR (h552) BE—8 (7L F)
LA BRgkE LIRS iiEsd 24 BiahR A ES A EE LHRES a—F 073030 T B X
e e | e ma | s TR g 0 sEEs P e o sEEs P e ol R R, ek
09/11|h21ELF | Rk 1|FZE kB 1(BLUYRUF 4m09 2lum EBE#E  1|AE= 3m81 IMEARIZEM 1[|BE 3m73 4 1k [P N 3m49
FEE Bk +0.5 +0.2 +1.6 +1.8
5| K¥E HZE 1|ELUENR 3m34 6|F% Fodh 1|EBLUENR 3m33 TR D 1|51 3m24 8|=iE HE 1|mAsg= 3m21
+1.2 +1.1 +0.3 +0.9
T D& 1|BAF= Ri5
09/11|h222FE & F | Rk 1|£ZF #ZF 2|[ELUED 4m41 2 |tEBma v rq 2| KR 4m37(+2.2) || 3 |8 Bt 2|RBE= 4m27 4Rk #HE 2|=H 4m17
FEE Bk +1.4 434m18 (+1. 2) +1.7 +1.9
5|t M2 2|EWLUE= 4m10 6|/h&t HE 2 |FEERE— 4m08 T\X"M HE 2|88 3m93 82 ET 2|HLUE= 3m84
+0.5 -0.4 +0.9 +0. 3
9|(R/iE ] 2 |EBLER 3m73 10(#A —¥ 2@ 3m68 MR DB 2|78 3m68 12[;F% #Fix 21061 3m67
+0.2 +0.7 0.0 +1. 1
13[#FFE BKiE 2 (KH# 3m65 14EO £H 2(E 3mb9 15[ BB 2 |EEREEXE 3mb2
-0.3 +0. 2 -0.2
09/10|sh =221 ELF | Rk 1|8 ®BZ 1|8 Tm03 218K @Btk 1|M5l 6m73 J|ixE EE 1 |@ER 6m70 A|EEBEE 1|8 6mb7
FaAix[2. 721ke]
51RF#F 2 1|BEAEFEZ 6m21 68K HE 1 |AEEFE— 6m04 Tl F4 1By A 5m55
09/10|ch=225F & F | RB 1188 DB AGEE] 11m06 2 |EBH DL AGEE] m77 3% wF 2 | RIG 6m94 4112 BHE A 6m82
AR [2. 721ke]
FEERAT T AL 6m77 6 |/\1% E2[&E 6m38 TlEEE BE 2 |REFZ 6m37
09/11|estmarrmme | § +1. 3| 1 | 2 2 | R — 18. 84 2B HH 2|HFR 19.78 J|#/K FE 21FEN 19. 96
100mH[0. 762m/8. 00m] _ 405 - 321 _ _ 306
09/11[reraxrrmmz| R . 118K FZxE  2[FE)I 31.15 |2 |=m& 2 2 |AEEE— 31.83 [ 3[iEiE&< 54 2|AR 32.21
200m _ _ _ 405 - 329 _ 335
00/11|wsmzrmmmt | RHH 1E28<5#%# 2[@E% 8m36 2|mm R 2|;mEE— 6m91 J|BmAR Fx  2|FENI 5m14

Faf (2. 721kgl 423 329 217




